3450 Sabin Brown Road - Wickenburg, AZ 85390
(800) 992-3833 Fax: (928) 684-7041
mail@bnproducts.com

DC-20WH Portable Rebar Cutters Parts List

< O

@ DC-20WH (2004)



e

BennersN

L.

AW]

LI R_
manancs

3450 Sabin Brown Road - Wickenburg, AZ 85390
(800) 992-3833 Fax: (928) 684-7041
mall@bnproducts.com

DC-20WH Portable Rebar Cutters Parts List

1 |1CM20011 | Front Housing 35 | 1C1944B/C | Main Handle

2 |1CM2002 | Seal Packing 36 | 1C1946 Switch Cover

3 |1€1958 Air Bag 37 | 1C19612E Armature

4 |1CM2028 | Air Bag Set Bolt 38 | 1C1961D Stator Coil

5 [1CM2027 | Air Bag Nut 39 | 1€1961K Motor Housing

6 |1€1603 Stopper Bolt with 40 | 119617 Carbon Brush Holder
Spring 41 | 1C1961A Carbon Brush / Set

8 |1c1311 Cutter Block 42 | 1C1961H Carbon Brush Cap

8 |RB-20WH | Cutter Block Set 43 | 1€19615C Side Cover / Top Cover

9 [1€1920 Return Spring 44 | 1C1961TC Tail Cover

10 [1€19171 Piston 45 | 1C1961F Electrical Cord

11 ]1€1936 Piston Key 46 | 1€19611 Cord Armor

12 |1€1319 Return Valve 47 | 1C1961B Switch / Trigger

13 |1€1921 Return Valve Spring | 48 | 1C1961C Switch Bolt

14 |1c1922 Valve End Spring 49 | 1C1961L Condenser

15 |1CM2025 | Cylinder Packing 50 | 1C1961M Armature Bearing /

16 [1€1918 Seal Packing / Piston | 51 | 1C1911B Cap Bolt M8x30

17 |1€2048600 | Cylinder 52 |1c1311W S. Washer M5

18 |1C1326 Snap Ring 53 | 1C1311B Cap Bolt M5x25

19 [1€1325 Bearing Guide 54 | 1€1313 Cap Bolt M5x18

20 |1C1340 Needle Bearing 55 | 7PB05055 Stator Coil Bolt M5x55

21 |1CWO0003 | Cam Bearing 56 |1C1949 Cap Bolt M6x90

22 |1c1327 Ram 57 |1C1945 Cap Bolt M6x18

23 [1€1330 Ram Return Spring 58 |1C1945 Cap Bolt M6x18

24 |1c13281 Delivery Valve 59 | 7P204010 Pan Head Screw M4x10

25 |1€1331 Delivery Valve Spring | 60 | 1C1961C Switch Cover Bolts

26 |1€13352 Spring Guide 61 | 75505008 | Set Screw

27 |1€13292 Pump Head Seal 62 | 1€1937 Flat Head Bolt M4x15

28 |3P1044 Filter Magnet 63 | 7PB05010 Pan Head Bolt M5x10

29 |1C19516 Pump Case Packing

30 |1€2059900 | Pump Case

31 |[1C1342 Oil Seal

32 |1€1941 Bearing 6004vv

33 |1€1305 Seal Washer (Wf10)

34 |1c1304 Bolt (Oil Plug) M10x15




